Séaure Base pKg

HCIO, ClO, 9
HCI cr 5
4 H2S04 HSO4 -3
HsO" H20 -1,74
HNO3 NO3z -1,32
HSO4" S04% 1,02
H3POq4 HoPO4 1,96
§ % HCOOH HCOO- 37 ® g
g CH3 COOH CH3COO 4,76 § S
S = H2CO3 HCO3 6,46 > 3
¥ H2S HS” 7,06 32
N ) , 8
H2POy4” HPO4Z 7.21
NH," NH3 9,21
HCOg" COg* 10,40
HPO,% PO4* 12,32
HS s% 12,9
H20 OH" 15,74
OH’ 0% o4
Phenolphthalein pKs=9
Methylorange pKs = 3.5
: o (A
Puffergleichung: pH = pKs + log - EHA)‘)

1
pH bei schwachen Sauren: pH = E(pKS - |OgCo(HA))

(14-pKg - 3)
pH bei schwachen Basen: pH=14—L14 PKs 2'09%(A )J




